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E5 Al 17,092,752 16,711,956 380,796

200 M2l +=¢ 5,491,300 5,956,000 N464,700

210 & HAN 2= 50,000 20,000 30,000

216 Ol Xt==¢ 50,000 20,000 30,000

216-01 33030l K== 50,000 20,000 30,000

<usdEFH L > 50,000 20,000 30,000
3303 0l Xt==¢ 50,000,000 * 14 50,000

220 SAIH A2l == 1,920,000 1,978,000 A 58,000

224 JIEt=¢ 220,000 78,000 142,000

224-07 12 =+¢ 220,000 78,000 142,000

<usSHIY > 220,000 78,000 142,000
OJIEt&E =¥ 100,000,000 14| 100,000

OusAN SLENS+H(ZMASHA) 25 =23

10,000,000& «12& 120,000

225 X &= 1,700,000 1,900,000 200,000

225-01 At AE =g 1,700,000 1,900,000 200,000

<usdFH > 1,700,000 1,900,000 200,000
OXHHE =g 1,700,000, 0003 * 14 1,700,000

230 NLHEMM - 203 3,521,300 3,958,000 A 436,700

231 &= 43,600 58,000 214,400

231-01 W& 3 43,600 58,000 A 14,400

<unsSHIY > 43,600 58,000 214,400
OFHEXIE HES 2,000,000& 14| 2,000
OFREE 298N A3 400,000& *40A 16,000
OXNSXOIBSE e = 500,000& =24 12,000
OWAHITSI 2+=AHY I TS 10,000,000 14| 10,000
Ost2ktsx 2ALE 2 S 300,000& x12& 3,600

234 MEHZE 2,727,700 3,000,000 A272,300

234-02 JIEtHEHZ 2,727,700 3,000,000 A272,300

<usdEFH Y > 2,727,700 3,000,000 A 272,300
OAd&D[AH2eld g HEHZ 20,000,000 * 14 20,000
OXNSXHESE <t WEHHE 50,000, 000 * 14 50,000
ONSIEHHAZSEY 2B BEHZ 250,000, 000& » 14| 250,000
OFEXtelet UHE 2,200,000, 0003 * 14 2,200,000
OXts Xt A BEHZ 200,000, 0003 * 14! 200,000




g 200 Mel+=¢
2t 230 NZAIMM - 2=
gt 234 tEHZ= (Sl &&)
Z2-2-8-5 Off &4 & E 0l At Hr&E2
OWABXsA 2AtSE 2 DEHH = 400,000& =122 4,800
Ost2ksx 2AtEE R BHi = 200,000& x12& 2,400
Oodolg & 2ax 500,000& =14 500
236 23 750,000 900, 000 A 150,000
236-01 2= 750,000 900,000 A 150,000
<usSdEFH W > 750,000 900,000 A 150,000
O=xt& el =51 3 200,000, 000& » 14! 200,000
OREFXE ARHM RE3 2,000,000& =252 50,000
OussZ |3 500,000, 000& » 14! 500,000
500 EX3 5,101,452 4,155,956 945,496
510 = DEX=S 4,644,189 3,606,805 1,037,384
511 =108x38 4,644,189 3,606,805 1,037,384
511-01 2 1ExX=S 3,673,300 2,851,000 822,300
<usdF > 3,631,300 2,851,000 780,300
O3&duiz & 140,000, 000& » 14! 140,000
OUSAMD 2R HLAE 75,000,000 * 14 75,000
O0gol 2579 o 330,000, 000& » 14| 330,000
OF=A EHSHATS) 25X 2,400,000, 0003 * 14 2,400,000
OZYABIS(HAZEAIAE)XIR 102,300, 000& » 14! 102,300
Ox=sstn WSANES &X A 584,000, 0003 » 14! 584,000
<UH=snsh > 42,000 0 42,000
OnsAdNSUAN(SEEnsS+H) =g 42,000,000& 14! 42,000
511-02 2N LHSEIHNELS 300,000 300,000 0
<uSHIY > 300,000 300,000 0
OFXtatgd e 300,000,000 14| 300,000
511-03 J1=2 670,889 455,805 215,084
<U=nsh > 670,889 455,805 215,084
QUEAX HILHM (LAl 2L 170,889, 000& » 14! 170,889
OSgusSH(NsSAXNSHA) 29 500,000, 000& * 14! 500,000
520 Al - SHIREXZ3S 457,263 549,151 291,888
521 Al - EHIEEXZS S 457,263 549,151 A91,888
521-01 Al - THIEEXZ2S 457,263 549,151 N91,888
<usSHIY > 305,935 148,780 167,155
ORFA BLDEHA(ITS) 2EXH 160,000,000 14| 160,000
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Z2-2-8-5 Oll &F o & E 0l At Hr&E2
OZABIS(HAHBAIA )X 46,035,000& =14 46,035
OFxtatgdd 90,000, 000& 14! 90,000
OLE28NT usSetd K& At 9,900,000& =14 9,900
<HsnRSw > 161,328 400,371 A 249,043
OunsaANSUAN(SEnsse) =g 21,000,000& 14! 21,000
OGUASIUHEHDE SHMLAZE (B=DX)
15,000, 000 * 14 15,000
OEAIES=Z K& 37,478,000 14! 37,478
OEHEEA 243 K& 71,850,000 14! 71,850
OLZ==HAl X7 UHXtHIE K& 6,000, 000& 14| 6,000
700 Ed+=USHURENH 6,500,000 6,600,000 100,000
710 284S 1,000,000 1,000,000 0
711 A= 1,000,000 1,000,000
711-01 =MAHLAH=2 1,000,000 1,000,000 0
<usSdEFHY > 1,000,000 1,000,000 0
O=MNALAH= 1,000,000, 0003 » 141 1,000,000
720 LH =2 H ch 5,500,000 5,600,000 100,000
721 = 5,500,000 5,600,000 100,000
721-03 JIEISI A AL = 5,500,000 5,600,000 100,000
<usSHIY > 5,500,000 4,600,000 900,000
OgteA 8= 5,500,000
DIAM SAIXSE 2,500,000,000& =14l 2,500,000
PEEFXNEY =4 1,500,000, 0003 » 14 1,500,000
PusSHtEAEE X X FH 1,500,000, 0003 » 14! 1,500,000




